p=v

2
1)

N’

1-23

6 w=f,952t

ENGR 210
FALL 206007
Home wokk =1

2) 22,V ~OLUTTOLS

b) 23 nF

o) SE L

&}?Slkj o O.FSI MY

Q/Z?,{/,H ol D.235 m H
(-

4> 9.4) W ﬂpf'o/m JEA /}

L% S R S -

c) .S W s T E

Aye4s.w A T E

//L> to fQC.LQ(éQ_ , fegfre ZSAL b= 75_0,44
e‘p-,@,uenc\,: %:’@

_ / v=2¢V
V1 congfor? ( j= 7¢A £
=y de peell 4t 1 /
L seconds!

{!

£0c.
L,

29V-FSA-L ¢ S
frsaas)




v O
AN

N Ohln'c ton: Liven:
) =i R =037, + 100
= lm A
”l‘C:L/DO"C

=lma (02900 +100) (L
=120 +100)m V
:(2201141/ ot O.QQ‘V/

C‘(;Uﬁnf 1127\/4»
1= SA
=

KCL at ﬂocOg C,’
-0

/‘, f;L/+}6
7 ‘:"“I

L//} (?A)
m?zA




W

&0
o other .?oss‘;é‘/‘f
(e \/qse,% !
velse o/tqge 3?3,15 AvD
AL nflfenr J;fc o
ctimMS

——

é"[vgn .

v,= 5V
V=~ [0V
v, = DV

V7
2 !
7 AVL\ OfDur/)\ ilbdpz

Vo = Vi Uy
= SV—{ ) “hT
-0V, - }VL!“/ )
U{;: Vz—iﬁ/@
- :“/OV”/DV
2 < ——%,,OV;




